Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	110	11			- site b	ills		
Company Name:				Reg			2/5/	22
Name of Contractor	MRM		_				GM	2
Nature of work	Mal	naveet						
Work done	From	ranife Date	Pixi	ng u	voork.	o Date		
Sl. Villa/Flat/block no			Rate	-				
No.	. Qi	y •	Rate		Units	Amou	int	Contractors bill no
1. 3x3 photoxibacy	des 1	15.	38	1-	Sht.	1,71	01-	
3×3 chafforing		80		Laj	J.P.L.		00/-	
4 6 plantay hou		0	38	3/-	5.84		10/-	
- 6 Charphorsin	1	60	25	1-	7174	1501	5/-	
E At Top a.] cut		15	38		112	570	01-	
7. Champhoring		30	25		7141	75	01-	
8. Dust shifting		380		51-	str		390/-	
9. stones shiptiv		5 80		1-	RIX		00)-	
10.	1)	55	0 1-	2011	2,7	50/-	
	tal:					19.10	7D 1-	
Bill required	□ YES	PNO.		GST	bill requir		OYES E	NO.
Measurement & estimate sheet:	Requi				urement d		Enclos ■	1
PO/WO no.	□ Not re	quired		_	ate sheet:		□ Not en	2 24
Remarks:				PO/W	O date:			
Actual By								
Approved by Project Man		T.						
	ager		ved by	Desig	gn Team	Appr	oved by l	M.D.
- Ingle	14	Date:				Date:		
Sign: Notes: 1. This advice must be sent	within 7	Sign:	-1-6-	1.5		Sign:		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable—fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Company Name:	MRMILLP				Α	Approved by: Ramprasad
Project:	Gulmohar Residency					Sign:
Work Description:	Towards Fire safety doors granite fixing work done at B-block.	at B-block.				
Contractor Name:	Mahaveer Gurjar					
Prepared By	Madhan					
Date:	02.05.2022					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount
-	granite Fixing work done	3'X3' planitari boxes 9' length	45.00	Sft	38.00	1,710
2	granite chmphering	3'X3' planitari boxes 18' length	180.00	Rft	25.00	4,500
3	granite Fixing work done	3'x3' planitari boxes 6' length	30.00	Sft	38.00	1,140
4	granite chmphering	3'x3' planitari boxes 12' length	60.00	Rft	25.00	1,500
5	granite Fixing work done	At top on curb stone	15	Sft	38.00	570
6	granite chmphering	At top on curb stone	30.00	Rft	25.00	750
7	Tandoor stones laying work done b/w 1&2 flats	Between 1&2 flats	380.00	Sft	11.50	4,370
80	Dust shifting work done	dust shifting for tandoor stones laying	380.00	Rft	5	1,900
9	9 Stones Shifting work done	Tandoor stones Shifting from Pheriperal road	5.00	No's	550	2,750
					Total	19,190

		A STATE OF THE PARTY OF THE PAR					upproved by.	Manaprasad
Project	Gulmohar Residency						Sign:	
Work Description:	Towards Fire safety doors granite fixing work done at B-block	at B-block.						
Contractor Name:	Mahaveer Gurjar							
Prepared By	Madhan							
	02.05.2022							
		The second secon	^	В	С		D	F= AxBxCxD
S No.			A					THE PERSON OF THE PERSON OF
	Item Head	Item Description	Length	Width	Height	Total	Nos	Quantity
1	ing work done	Item Description 3'X3' planitari boxes 9' length	Length 9.00	Width 0.50	Height 1.00	Total 4.50	Nos 10.00	Quantity 45
2	done	Item Description 3'X3' plantiari boxes 9' length 3'X3' plantiari boxes 18' length	Length 9.00	0.50 0.50	Height 1.00	Total 4.50 18.00	Nos 10.00 10.00	Quantity 45
3		Item Description 3'X3' plantiari boxes 9' length 3'X3' plantiari boxes 18' length 3'X3' plantiari boxes 6' length	Length 9.00 18.00	Width 0.50 1.00	Height 1.00 1.00	Total 4.50 18.00 3.00	10.00 10.00	Quantity 45 180
4 3 2 1	done	Item Description 3'X3' plantiari boxes 9' length 3'X3' plantiari boxes 18' length 3'X3' plantiari boxes 6' length 3'X3' plantiari boxes 6' length	Length 9.00 18.00 6.00 12.00	0.50 0.50 0.50	Height 1.00 1.00 1.00	Total 4.50 18.00 3.00 6.00	10.00 10.00 10.00	Quantity 45 180 30
5 4 3 2 -	done done	Item Description 37X3' planitari boxes 9' length 37X3' planitari boxes 18' length 37X3' planitari boxes 6' length 37X3' planitari boxes 6' length Al top on curb stone	Length 9.00 18.00 6.00 12.00 15.00	Width 0.50 1.00 0.50 0.50	Height 1.00 1.00 1.00 1.00	Total 4.50 18.00 3.00 6.00	10.00 10.00 10.00 10.00	Quantity 45 180 30 60
6 5 4 3 2 1	done	Item Description 37X3 planitari boxes 9' length 37X3 planitari boxes 18' length 37X3 planitari boxes 6' length 37X3 planitari boxes 6' length 37X3 planitari boxes 12' length At top on curb stone At top on curb stone	Length 9.00 18.00 6.00 12.00 30.00	Width 0.50 1.00 0.50 0.50 1.00 1.00	Height 1.00 1.00 1.00 1.00 1.00	Total 4.50 18.00 3.00 6.00 15.00	Nos 10.00 10.00 10.00 10.00 1.00	Quantity 45 180 30 60 15
7 6 8 4 8 2 1	done done done done done	Item Description 37x3' planitari boxes 9' length 37x3' planitari boxes 18' length 37x3' planitari boxes 6' length 37x3' planitari boxes 6' length 37x3' planitari boxes 12' length At top on curb stone At top on curb stone At top on curb stone	Length 9.00 18.00 6.00 12.00 30.00 38.00	Width 0.50 1.00 0.50 0.50 1.00 1.00	Height 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.0	Total 4.50 18.00 3.00 6.00 15.00 30.00 380.00	Nos 10.00 10.00 10.00 10.00 10.00 1.00	Quantity 45 180 30 60 15 30 380
8 7 6 5 4 3 2 1	done done done done done done lone lone lone	Item Description 37x3' planitari boxes 9' length 37x3' planitari boxes 18' length 37x3' planitari boxes 6' length 37x3' planitari boxes 6' length 4x top on curb stone At top on curb stone Between 1&2 flats dust shifting for tandoor stones laying	Length 9.00 18.00 6.00 12.00 15.00 30.00 38.00	Width 0.50 1.00 0.50 0.50 0.50 0.50 1.00 1.00	Height 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.0	Total 4.50 18.00 3.00 6.00 15.00 380.00 380.00	Nos 10.00 10.00 10.00 10.00 10.00 1.00 1.0	Quantity 45 180 30 60 15 30 380

Bill for Labour Charges

Mahaveer Gujar, Mallapur.

Date:09.05.2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Granite fixing purpose

Towards:

Allowance for Labour Charges.

S No.	Description	Amount
1.	Brief description of work done: Towards fire safety doors granite fixing work done at B block. Total Amount = 19,190/-	Rs. 7,676/-
	Work done from date 25.04.2022 to date 30.04.2022	

Amount in words: Seven thousand six hundred and seventy six rupees only.

Sign: Mahanent

Allowance for Consumables

Mahaveer, Mallapur.

Date: 09.05.2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Granite fixing work

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards fire safety doors granite fixing work done at B block. Total Amount = 19,190/- Work done from date 25.04.2022 to date 30.04.2022	Rs. 3,838 /-

Amount in words: Three thousand eight Hundred and thirty eight rupees only.

Bill for Equipment Allowance

Mahaveer, Mallapur.

Date: 09.05.2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Granite fixing work

Towards:

Allowance for Equipment.

S No.	Description	Amount
1.	Brief description of work done:	
	Towards fire safety doors granite fixing work done at B	Rs. 7,676/-
	block. Total Amount = 19,190/-	
	Work done from date 25.04.2022 to date 30.04.2022	

Amount in words: Seven thousand six hundred and seventy six rupees only.

Sign: Mahmeast